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SECTION - A {Marks 15) ,
Time allowed: 20 Minutes ® ®® @ ¢
Section - A is compulsory. All parts of this G
section are to be answered on this page a:'td @ 0 0 @C¢
handed over to the Centre Superintendent, —~
Delelingloverwriting is not allowed. ® ® ® ¢
Do nof use lead pencil, y
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Answer Sheet No.
A e n G L AESE L v, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Céndidate Sign.
l I Question Ji A B Cc D A i B : c D ‘
If &, B and C are three Non-singular matrices
such that AB=Cthen B=7 & = = P~
s = ! A'C c4 i S S
B=17 AB=C aunsintel C i ABA| A oL L
i If 3i(2-+50) = x+ Githen x =7
F 2% ~15 15 15 -15i ) 4 ¥
| x=77 32+ 5% x+ 61 S # - C =
1
i 3log2—-2log5 in the simplified form is: 6 9 8 5
[ log— log— log— log— e =
i teviPud 3log2-Bogs | 10 T 8% g QO < - &
E If x—y=4then which of the fallowing is
s, correct? _ B =yt~ K=yt 24y~ o o O
fesn Uy e L,ﬂn.a’i'whx—ywlt.ﬂ'} 24xy =64 12xy =64 6xy = 64 3xy =64 4
When polynomial x™ —7x* +1is divided by
x+1, then the remainder is: ! § : 5 - = ~
> i Lbd e XHLIXP—Tx% 41 $050a) B 19 SN2
s
: a 1
Simplified form of e
9a"--b" 3a-b 4a 4a-b da+h b -
ki ey par—2 4 L 9a® — b 9a’ — 4 9a’ —b* O
S Y P |
The solution set of [2x] =8 is: :
7. e Ver v =8 {4 -4 [-4<x<d} |{4,—4} & O B
Which ordered pair lies on 2x <3y = ~6:
B e iy 25— 3y =6 brw vl etitie] (62) (-6:-2) (2.6) (-2-6) oy L B0
if A(0,-3), A(-3,{) are any two points then!
{ _ 7
W | VE s WF 6 0O C 0 0
| AB| = T3ussine.is A(0,~3),8(-3,0) fri -:
i
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[ I Question U

n a rectangle LMNO, mIN =20cm then
x=0P=1

10.

L i

A LMNO B
x=O_P='?

7 mLN =20cm
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What is the length of PQ in APORf
mPR=242 and mP_an@E
P

t{\:
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o mPR =27 Sl i PO 2 APQR 24
- m"PZ_) = m_Q:E
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What Is' the length of Iﬁ: it area of
paralielogram ABEF is 63cm”and altitude of
paralelogram ABCD isTem?

F D E c

1. §

A E
G St 63cm® 3.8 ABEE Qusu i LU
tSry e AB in Tem Jg;lJABCD L

18em

27em

What is the value of X in the given figure?
4&———*——.

X 3
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i A4BC = ADEF then which of the
following is NOT correct?

Lo d.:.f.y,b_’lr i:,'l’;.'.-;’}:!}fp‘u; AABC = ADEF A

P

ZABC = LEFD | ZCBA=

LFED | /A=

CA=FD

For the given figure, what is the value of X ?
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